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Problems To Solve
1) Drought

The states of North and South Dakota are in the middle of a strangling
drought. The cattle ranch families cannot grow hay to feed their cattle and
the water holes and creeks have dried up due to too little rain.

At present, the ranchers are filling huge tanks with water and driving to the

cattle twice a day, but this is incredibly expensive and they will go out of
business if they keep going.

2) Lift-Off

NASA frequently has to cancel launches of shuttle and other space missions
due to inclement weather. It costs millions of dollars to cancel and
reschedule a launch. Limiting the number of canceled lift-offs is extremely
Important to the future success and safety of the space program.
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